






In a certain code language, ‘CROWD’ is coded as 23415924 and 

‘TRHICK’ is coded as 162491997. How will ‘FRUGAL’ be coded 

in that language? 

एक निनित कोड भाषा में, 'CROWD' को 23415924 और 'TRHICK' 

को 162491997 के रूप में कोनडत नकया गया है। उस भाषा में

'FRUGAL' को कैसे कोड नकया जाएगा?

1. 1221021186 

2. 1226761821 

3. 1521012291 

4. 1512021921



In a certain code language, 6219 means ‘Sachin is a 

cricketer’ and 2646 means ‘He played from 

Mumbai’. Which of the following is the code for 

‘Mumbai is very famous’? 

एक निनित कोड भाषा में, 6219 का अर्थ है ' Sachin is a 

cricketer ' और 2646 का अर्थ है ' He played from 

Mumbai '। ' Mumbai is very famous ' के निए

निम्ननिखित में से कौि सा कूट है? 1. 7945 

2. 2458 

3. 6246 

4. 6285



If 24 March 2018 is a Saturday . Which day of the 
week will be on 24 March 2035 ?

यनि 24 मार्थ 2018 शनिवार है। सप्ताह का कौि सा
निि 24 मार्थ 2035 को होगा?

1) Wednesday

2) Saturday

3) Sunday

4) Tuesday



From the given alternatives, select the set of letters that can 
come in place of the question mark (?) in the following series.

निए गए नवकल्ोों में से उस अक्षर-समूह का र्यि करें जो निम्न

श्रोंििा में प्रश्न नर्ह्न (?) के स्र्ाि पर आ सकता है।

ACL, DFO, GIR, JLU, MOX, ?

1. PRA

2. OQZ

3. NPZ

4. ARP



Select the option that will come in place of the question mark (?) in 
the following series.

उस नवकल् का र्यि कीनजए जो निम्ननिखित श्रोंििा में प्रश्न नर्ह्न (?) 
के स्र्ाि पर आएगा ।

45, 35, 27, 21, 17, ?

1. 13
2. 16
3. 14
4. 15



Which two numbers should be interchanged to balance the given 
equation?

निए गए समीकरण को सोंतुनित करिे के निए नकि िो सोंख्याओों को
आपस में बििा जािा र्ानहए?

81 + 31 ÷ 9 – 7 = 33

1. 9 और 7
2. 31 और 81

3. 81 और 7

4. 31 और 9



In a certain code language, 'sand is hot' is written as '6 8 9', 
and 'grains are white sand' is written as '4 392'. What will be 
the code for 'hot' in the same code language?

एक निनित कूट भाषा में, ‘sand is hot’ को ‘6 8 9’ के रूप में

नििा जाता है, और ‘grains are white sand’ को ‘4 3 9 2’ के

रूप में नििा जाता है। उसी कूट भाषा में ‘hot’ के निए कूट क्या

होगा ?

1.  6 या 8
2.   3
3.   9
4.   4



Select the alternative which has the same relation with the 
fifth term as the second term with the first term and The 
fourth term is accompanied by the third term.
उस नवकल् का र्यि कीनजए नजसका पाोंर्वें पि के सार् वही

सोंबोंध है, जो िूसरे पि का पहिे पि के सार् और र्ौरे् पि का

तीसरे पि के सार् है।

SIDE22 : UKFG19 :: SETS15 : UGVU12 :: MINE11 : ?

1. NJOF12
2. OKPG8
3. OKPG14
4. NJOF9



Select the alternative which has the same relation with the fifth term, 
the second word with the first word, and the fourth word with the 
third word.

Cricket : Bat : Hockey : Stick : Rugby : ?
निकेट : बल्ला :: हॉकी : छड़ी :: रग्बी : ?

1. मैिाि (Field)
2. गोि (Round)
3. गेंि (Ball)
4. खििाड़ी (Player)





Select the option which has the same relation with the fifth number as 
the second number with the first number, and the fourth number with 
the third number.

उस नवकल् का र्यि कीनजए नजसका पाोंर्वी ोंसोंख्या के सार् वही सोंबोंध है, 
जो िूसरी सोंख्या का पहिी सोंख्या के सार् है, और र्ौर्ी सोंख्या का तीसरी

सोंख्या के सार् है।

7 : 2401 :: 3 : 441 :: 5 : ?

1. 1805
2. 880
3. 685
4. 1225



Select the option which is related to the third letter-group in 
the same way as the second letter-group is related to the first 
letter-group.
उस नवकल् का र्यि करें जो तीसरे अक्षर-समूह से उसी प्रकार

सोंबोंनधत है, नजस प्रकार िूसरा अक्षर-समूह पहिे अक्षर-समूह से

सोंबोंनधत है।

RBS : OXN :: OXA : ?

1. LTV
2. LUV
3. LTW
4. LUW



In a certain code language, 'ADULT' is coded as '53' and 
'LACK' is coded as '23'. How will 'HEAVEN' be coded in this 
language? 

एक नवनशष्ट कूट भाषा में, 'ADULT' को '53' कोनडत नकया

जाता है और 'LACK' को '23’ कोनडत नकया जाता है।

इस भाषा में 'HEAVEN' को नकस प्रकार कोनडत नकया जाएगा
?

1. 55
2. 49
3. 61
4. 58



In a certain code language, 'Ashok is big' is written as 'pr 6 8', 'Huge 
people are strong' is written as 'Im pt 7 @' and 'Is big are' It is written as 
'pr pt 8'. What can be the possible code for 'Ashok people' in the same 
code language? 

एक निनित कूट भाषा में, ‘Ashok is big’ को ‘pr 6 8’ के रूप में नििा जाता है, 

‘Huge people are strong’ को ‘Im pt 7 @’ के रूप में नििा जाता है और ‘Is 
big are’ को ‘pr pt 8’ के रूप में नििा जाता है। उसी कूट भाषा में ‘Ashok 
people’ का सोंभानवत कूटक्या हो सकता है ?

1. 8 7
2. 6 lm
3. 6 pt
4. lm 7



Select the option in which the given numbers are related in 
the same way as the numbers in the given set are related.

उस नवकल् का र्यि करें नजसमें िी गई सोंख्याएँ आपस में उसी

प्रकार सोंबोंनधत हैं, नजस प्रकार निए गए समुच्चय की सोंख्याएँ

सोंबोंनधत हैं।

(131, 142, 153)

1. (127, 149, 160)
2. (149, 160, 193)
3. (119, 130, 141)
4. (161, 172, 195)



From the given alternatives, select the number which can come 
in place of the question mark (?) in the following series.

निए गए नवकल्ोों में से उस सोंख्या का र्यि करें , जो निम्ननिखित

शोंििा में प्रश्न नर्ह्न (?) के स्र्ाि पर आसकती है।

482, 239, 158, 131, 122, ?

1. 117
2. 113
3. 119
4. 121



Find  the number of square (?)

(A) 10

(B) 24 

(C) 14 
(D) NOT



Find the missing one  (?)

Wheat, Barley, Rice - ? 
गेहूं, जौ, चावल - ?

A. Food / खाना
B. Pizza / पिज़्जा

C. Farm / खेत
D. Grain / अनाज



Arrange the in Dictionary order :-

1. First
2. Frown 
3. Fist 
4. Fast
5. Floor

A- 3,5,2,4,1
B- 4,1,3,5,2
C- 2,1,3,5,4
D- 2,4,1,5,3



Find the missing one  (?)

Lock : Shut :: Fasten :
ताला : शट :: बाूंधना :

A.Window / खखड़की
B.Door / द्वार
C.Iron / लोहा
D.Block/ बाधा



Choose the word which is different from the 
rest.

A.Kiwi / कीवी
B.Eagle / ईगल
C.Emu / एमु
D.Ostrich / शुतुरमुगग



In which year 2011 calender will be 

repeated :-

नकस वषथ में 2011 कैिेंडर िोहराया जाएगा: -

(A) 2020 

(B) 2021

(C) 2022
(D) 2023



Statements:

A few balloons are not toys.

All toys are bear.

No bear is wild.

Conclusions:

No wild is a toy.

No balloon is wild.

कर्ि: 

कुछ गुब्बारे खििौिे िही ों हैं।

सभी खििौिे भािू हैं।

कोई भािू जोंगिी िही ों है. 

निष्कषथ: 

कोई वाइल्ड टॉय िही ों है।

कोई बैिूि वाइल्ड िही ों है.



If G is 5th to the left of K and 2nd to the right of L who is 11th from the 
right end then what is G's position from the left? 
यनि G, K के बायें से 5वाों और L के िायें से िूसरे स्र्ाि पर है, जो िायें छोर से

11वाों है, तो बायें से G का स्र्ािक्या है?

A. 5 
B. 4 
C. 6 
D. Cannot be determined



Kamlesh is Anil's brother. Sundari is the sister of Madan. 
Anil is the son of Sundari. Now how is Kamlesh related to 
Sundari? 
कमलेश अपनल का भाई है। सुूंदरी मदन की बहन है। अपनल सुूंदरी

का िुत्र है। अब कमलेश का सुूंदरी से क्या सूंबूंध है?

A.Nephew
B. Son 
C. Brother 
D. Father



Which of the following diagrams indicate best 
relation between Author, Lawyer and Singer?
निम्ननिखित में से कौि सा नर्त्र िेिक, वकीिऔर
गायक के बीर् सोंबोंध को िशाथता है? 

C. D.

B.A.



Study the diagram given below and answer each of the following questions.

How many persons who take tea and wine but not coffee ?
नकतिे िोग हैं जो र्ाय और वाइि िेते हैं िेनकि कॉफी िही ों?

A.20
B.17
C.25
D.15



From the given alternative words, select the word which can be 

formed using the letters of the give word :

निए गए वैकखल्क शब्ोों से, उस शब्का र्यि करें नजसे शब् के

अक्षरो ों का उपयोग करके बिाया जा सकता है:

REPLENISHABLE

(1) LIME
(2) REACH
(3) SHINE
(4) PAPER



Statement : The killer enteric fever has so for claimed 100 lives in some tribal 

villages in M.P. during the past three weeks. 

Course of Action : 

I) The residents of these villages should immediately be shifted to a non-affected 

area. 

II) The Government should immediately send a medical squad to this area to 

restrict spread of the killer disease. 

कर्ि: नपछिे तीि हफ्ोों के िौराि एमपी में कुछआनिवासी गाोंवो ों में जाििेवा आोंत्र

बुिार िे 100 िोगो ों के जीवि को समाप्त नकया है।

कायथवाही: 

I) इि गाोंवो ों के निवानसयो ों को तुरोंत एक प्रभानवत के्षत्र में स्र्ािाोंतररत नकया जािा

र्ानहए।

II) जाििेवा बीमारी के फैिाव को रोकिे के निए सरकार को तुरोंत इस के्षत्र में एक

नर्नकत्सा िि भेजिा र्ानहए।



Find the option which should replace (?)

245 , 356 , 489 ,674 , ?

(A) 881  

(B) 145

(C) 225
(D) 343



Amit, Gaurav, Hatim, Varun, Yukti and Zaid are sitting in a 

straight line, all facing the north. Gaurav is fourth to the left of 

Amit. Yukti is sitting at one corner. Hatim is fourth to the left of 

Yukti. Zaid is third to the right of Gaurav. Who is sitting at the 

second place to the left of Zaid? 
अनमत, गौरव, हानतम, वरुण, युखिऔर जैि एकसीधी रेिा में उत्तर

कीओर उनु्मि होकर बैठे हैं। गौरव, अनमत के बायें र्ौर्ा है। युखि
एककोिे पर बैठी है। हानतम युखि के बायें र्ौर्ा है। जैि गौरव के

िायें से तीसरे स्र्ाि पर है। जैि के बायें िूसरे स्र्ाि पर कौि बैठा है?

1. Yukti

2. Varun 

3. Hatim 

4. Amit


